

* 39 $\int \frac{1}{3x + \sqrt[3]{x^2}} dx$

$\int \frac{1}{3x + (\sqrt[3]{x})^2} dx$ $\begin{cases} x = t^3 \\ dx = 3t^2 dt \end{cases}$

$= \int \frac{1}{3t^3 + (\sqrt[3]{t^3})^2} 3t^2 dt = 3 \int \frac{1}{3t + t^2} t^2 dt$

$= 3 \int \frac{1}{t^2(3t+1)} t^2 dt = 3 \int \frac{1}{3t+1} dt$ $\begin{cases} 3t+1 = k \\ 3dt = dk \\ dt = \frac{dk}{3} \end{cases}$

$= 3 \int \frac{1}{k} \frac{dk}{3} = \int \frac{1}{k} dk = \ln|3\sqrt[3]{x} + 1| + C$

* 40 $\int \frac{x + \sqrt[3]{x^2} + \sqrt{x}}{x(1 + \sqrt[3]{x})} dx$

$\int \frac{x + (\sqrt[3]{x})^2 + \sqrt{x}}{x(1 + \sqrt[3]{x})} dx \Rightarrow \begin{cases} x = t^6 \\ dx = 6t^5 dt \end{cases}$

$\int \frac{t^6 + (\sqrt[3]{t^6})^2 + \sqrt{t^6}}{t^6(1 + \sqrt[3]{t^6})} \cdot 6t^5 dt$

$6 \int \frac{t^6 + t^4 + t}{t(1 + t^2)} dt = 6 \int \frac{t(t^5 + t^3 + 1)}{t(1 + t^2)} dt$

$6 \int \frac{t^5 + t^3 + 1}{t^2 + 1} dt$

$\frac{t^5 + t^3 + 1}{t^2 + 1} = t^3 + 1 + \frac{1}{t^2 + 1}$

$= 6 \left(\int t^3 dt + \int \frac{1}{t^2 + 1} dt \right) = 6 \left(\frac{t^4}{4} + \arctan t \right)$

$= 6 \cdot \left(\frac{(\sqrt[3]{x})^4}{4} + \arctan \sqrt[3]{x} \right) + C$

41 $\int \frac{\sqrt{2x-3}}{\sqrt[3]{2x-3} + 1} dx$ $\begin{cases} 2x-3 = t^6 \\ 2dx = 6t^5 dt \\ dx = 3t^5 dt \end{cases}$

$\int \frac{\sqrt{t^6}}{\sqrt[3]{t^6} + 1} 3t^5 dt$

$3 \int \frac{t^3}{t^2 + 1} t^5 dt = 3 \int \frac{t^8}{t^2 + 1} dt$

$t^8 : t^2 + 1 = t^6 - t^4 + t^2 - 1 + \frac{1}{t^2 + 1}$

$= \frac{t^7}{7} + C$

3 $\left(\int t^2 dt - \int t^4 dt + \int t^2 dt - \int dt + \int \frac{1}{t^2+1} dt \right)$

$= \left(\frac{t^3}{3} - \frac{t^5}{5} + \frac{t^3}{3} - t + \arctan t \right)$

$3 \left(\frac{(\sqrt[3]{2x-3})^3}{3} - \frac{(\sqrt[3]{2x-3})^5}{5} + \frac{(\sqrt[3]{2x-3})^3}{3} - \sqrt[3]{2x-3} + \arctan \sqrt[3]{2x-3} \right)$

* 42 $\int \frac{\sqrt{x+1}}{x} dx$ $\begin{cases} x+1 = t^2 \Rightarrow x = t^2 - 1 \\ dx = 2t dt \end{cases}$

$\int \frac{\sqrt{t^2}}{t^2 - 1} 2t dt = 2 \int \frac{t^2}{t^2 - 1} dt$

$\frac{t^2}{t^2 - 1} = 1 + \frac{1}{t^2 - 1} = 2 \int \left(1 + \frac{1}{t^2 - 1} \right) dt$

$= 2 \left[t + \frac{1}{2} \ln \frac{t-1}{t+1} \right] = 2t + \ln \frac{t-1}{t+1}$

$= 2\sqrt{x+1} + \ln \frac{\sqrt{x+1} - 1}{\sqrt{x+1} + 1} + C$

* 43 $\int \frac{1}{x-1} \sqrt{\frac{x+1}{x-1}} dx$

$\frac{x+t}{x-1} = t^2 \Rightarrow dx = \frac{2t(t^2-1) - (t+1)2t}{(t^2-1)^2} dt$

$\sqrt{\frac{x+1}{x-1}} = x + t^2 - t^2$

$x - x t^2 = -t^2 + 1$

$x(1-t^2) = -t^2 + 1$

$x = \frac{-t^2 + 1}{1-t^2}$

$x = \frac{t^2 + 1}{t^2 - 1}$

$dx = \frac{-4t}{(t^2-1)^2} dt$

$\int \frac{1}{\frac{t^2+1}{t^2-1} - 1} \sqrt{\frac{x+1}{x-1}} \frac{-4t}{(t^2-1)^2} dt$

$= -4 \int \frac{1}{\frac{t^2+1-t^2+1}{t^2-1}} \cdot \frac{t^2}{(t^2-1)^2} dt = -4 \int \frac{1}{2} \frac{t^2}{(t^2-1)^2} dt$

$= -2 \int \frac{t^2}{t^2-1} dt$ $\frac{t^2}{t^2-1} = 1 + \frac{1}{t^2-1}$

$= -2 \int \left(1 + \frac{1}{t^2-1} \right) dt = -2 \left(t + \frac{1}{2} \ln \frac{t-1}{t+1} \right)$

$= -2 \sqrt{\frac{x+1}{x-1}} - \ln \frac{\sqrt{\frac{x+1}{x-1}} - 1}{\sqrt{\frac{x+1}{x-1}} + 1} + C$

? pitati papa

43) $\int \frac{4}{(x-1)^2} \sqrt{\frac{1-x}{1+x}} dx$

$\frac{1-x}{1+x} = t^2$
 $1-x = x^2 + 1$
 $-x - x + 1 = t^2 - 1$
 $-x(1+t) = t^2 - 1$
 $x(1+t) = 1 - t^2$
 $x = \frac{1-t^2}{1+t}$
 $dx = \frac{-2t^2(1+t) - (1-t^2)t^2}{(1+t)^2} dt$
 $dx = \frac{3t^2(-1-t^2-1+t^2)}{(1+t)^2} dt$
 $dx = \frac{-6t^2}{(1+t)^2} dt$

$4 \cdot \int \frac{1}{\left(\frac{1-t^2}{1+t} - 1\right)^2} \sqrt{\frac{1-t^2}{1+t}} \frac{-6t^2}{(1+t)^2} dt$
 $-24 \int \frac{1}{\frac{(1-t^2-x^2+1)^2}{(1+t)^2}} \frac{t^2}{(1+t)^2} dt$
 $-24 \int \frac{1}{4t^2} t^2 dt = -\frac{24}{4} \int \frac{1}{t^2} dt$
 $= -6 \left(-\frac{1}{2+t}\right) = \frac{3}{\left(\sqrt{\frac{1-x}{1+x}}\right)^2} = 3 \left(\sqrt{\frac{1+x}{1-x}}\right)^2 + C$

$-\int \frac{t}{\sqrt{1+4t^2}} dt$
 $1+4t^2 = k^2$
 $8t dt = 2k dk$
 $dt = \frac{k}{4} dk$

$-\int \frac{t}{\sqrt{k^2}} \frac{k}{4} dk$
 $-\frac{1}{4} \int dk = -\frac{1}{4} k = -\frac{1}{4} \sqrt{1+4t^2}$
 $= -\frac{1}{4} \sqrt{1+\frac{4}{x^2}} + C$

44) $\int \frac{1}{(x+1)\sqrt{x^2+2x-3}} dx$

$x+1 = \frac{1}{t} \Rightarrow x = \frac{1}{t} - 1$
 $dx = -\frac{1}{t^2} dt$

$-\int \frac{1}{\frac{1}{t} \sqrt{\left(\frac{1}{t}-1\right)^2 + 2\left(\frac{1}{t}-1\right) - 3}} \frac{1}{t^2} dt$
 $-\int \frac{1}{\sqrt{\frac{(1-t)^2}{t^2} + \frac{2}{t} - 2 - 3}} \frac{dt}{t}$
 $-\int \frac{1}{\sqrt{1-2t+t^2+2t-5t^2}} \frac{dt}{t} = -\int \frac{1}{\sqrt{-4t^2+1}} \frac{dt}{t}$

$-\int \frac{1}{\sqrt{1-(2t)^2}} dt$
 $2t = k$
 $2dt = dk$
 $dt = \frac{dk}{2}$
 $-\int \frac{1}{\sqrt{1-k^2}} \frac{dk}{2}$

$-\frac{1}{2} \arcsin k = -\frac{1}{2} \arcsin 2t$
 $= -\frac{1}{2} \arcsin 2 \cdot \left(\frac{1}{x+1}\right)$
 $= -\frac{1}{2} \arcsin \frac{2}{x+1} + C$

45) $\int \frac{1}{x\sqrt{x^2-9}} dx$

sto ta smerny
 $x = \frac{1}{t}$

$dx = -\frac{1}{t^2} dt$
 $\int \frac{1}{\frac{1}{t} \sqrt{\frac{1}{t^2}-9}} \left(-\frac{1}{t^2}\right) dt$
 $-\int \frac{1}{\frac{1}{t} \sqrt{\frac{1-9t^2}{t^2}}} \frac{1}{t^2} dt = -\int \frac{1}{\sqrt{1-9t^2}} \frac{dt}{t}$

$-\int \frac{1}{\sqrt{1-(3t)^2}} dt$
 $3t = k$
 $3dt = dk$
 $dt = \frac{dk}{3}$
 $-\int \frac{1}{\sqrt{1-k^2}} \frac{dk}{3}$
 $-\frac{1}{3} \int \frac{1}{\sqrt{1-k^2}} dk = -\frac{1}{3} \arcsin k$
 $= -\frac{1}{3} \arcsin 3t = -\frac{1}{3} \arcsin \frac{3}{x} + C$

46) $\int \frac{1}{x^2\sqrt{x^2+4}} dx$

$x = \frac{1}{t}$
 $dx = -\frac{1}{t^2} dt$

$-\int \frac{1}{\frac{1}{t^2} \sqrt{\frac{1}{t^2}+4}} \frac{dt}{t^2} = -\int \frac{1}{\sqrt{1+4t^2}} dt$
 $-\int \frac{1}{\sqrt{1+(2t)^2}} dt = -\int \frac{1}{\sqrt{1+4t^2}} dt$

$t = \frac{1}{x}$
 $\frac{1}{t^2}$